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The ozone hole is found in the

A. storm surge.

B. ozone

C. beach nourishment
D. stratosphere.

Answer: D

submarine fan

A. high porosity, low permeability
B. wedge of sediment

turbidites

grades bedding

C. thick, fine sediment
seamounts

flat

D. turbidity currents

submarine slumps

Answer: B

Which of these are characteristics of either porosity or permeability?

A. Permeability is a measure of how well the pores are connected.

Porosity is a measure of the amount of the substance composed of empty spaces.

B. sediment liquefaction that can compromise mining tunnels and neighboring processing plants
C. They provide nutrient-rich food for birds.

They absorb and store carbon from the atmosphere.

They serve as a nursery for juvenile fish.

D. does not require pumping

penetrates a confined aquifer
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Answer: A

Question: 4

This NASA satellite image shows the Cape Cod peninsula in southeastern Massachusetts.

A. longshore drift

B. tar sand

C. plant material

D. longshore current

Answer: A

Oceans

A. In The Arctic Ocean

B. Carribean, Red, Mediterranean

C. Shallow Moho Thin Higher Density

D. Atlantic, Pacific, Indian, Arctic, Southern

Answer: D

Question: 6

The type of energy that uses the Earth's internal heat is called

A. solar.
B. geothermal.
C. tidal.
D. wind.

Answer: B

Question: 7

Steps in hydrofracturing
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A. Runs parallel to the shore and disrupts the longshore current
Beach accretion occurs by blocking erosion by incoming waves
B. They provide nutrient-rich food for birds.

They absorb and store carbon from the atmosphere.

They serve as a nursery for juvenile fish.

C. Packers are put in place

Fluids are pumped in at high pressure

The pressure in the hole is increased

Preexisting cracks open up

D. The amount of water vapor in the air at any given time is usually less than that required to saturate
the air. Expressed as a percentage.

Answer: D

The majority of the ions found in ocean water are

A. sodium and chloride.
B. bromine and boron.

C. calcium and sodium.

D. sodium and carbonate.

Answer: A

How can oil be produced from such a tar sand?

A. Chesapeake Bay is a fjord, and it was a glacial valley in the past.

B. reactions between tailing piles and rainwater that pollute water sources and damage vegetation
C. It rose upward as it was carried within magma.

D. heating underground, pumping, and cracking

quarrying, heating, and cracking

Answer: D

Flow of ocean water in gyres is

A. a new and full moon.
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B. are covered by thick sediment.
C. straight and northward in the northern hemisphere.
D. circular and clockwise in the northern hemisphere.

Answer: D
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